INDIAN SCHOOL DARSAIT

Class XII Mathematics Worksheet

Worksheet # 10 Differentiability # 4
(Chapter — 5: Continuity & Differentiability)

CLASS WORK

1. 2
If x=3Sint-Sin3t, y=3Cost—Cos3t , find ﬂd_z/ att=2
dx dx 3
2. 2
If x=2Cos#—-Cos28, y=2Sin€-Sin26, find d_yd_zl att=2
dx dx 2
3.
If x=a(6+Sind), y=-a(l-cosd), find ¥ 9V at -7
dx ' dx? 2
4.
If x=a(Cost+tSint), y=a(Sint-tCost) , find 2,9V
dx " dx’
> If x:a(Cost+Iogtan(V)), y=a(1+Sint) , find dy dy at 9==
2 dx " dx? 4
6. =y, y=+a®" | find j—y . Hence show that x%y,+xy,—y=0
X
7. . . ., dy X
If x=aCos#+bSingd, y=aSind-bCoséd , prove that i) "oy
Xy
2 dy
Py ey xYiy-o
)y o Y
8 |ifsinx=—21  Tany=—2  fina &
1+t 1-t dx
9. a(1-t
Find &y if x= ( 5 ) y= 2bt2
dx 1+t 1+t
10. iy _dy. tel 1Y°
For a positive constant a, find d—1f y=a 'and x= t+¥
X
11. _ d’y Y
If x=Sint , y=Sin pt prove that (1 X ) ~—X—=+p°y=0
dx dx
12. | If x=Sin@ , y=Cos pd prove that (l—x )Yz—xYl+ p’y=0
13. 2 " 2 " 2 d’y _dy
If y=A[x+\/x +1J +B[x—\/x +1J , then show that (x +1)F+Xd__n y=0
X X
14. 2
Differentiate Tan™ {“—Xl} with respect to Tan™ x
X
15.
> Differentiate Sinl[ ZXZ} with respect to Tanl[ ZXZ}
1+x 1-x
16. 2 _1-x2
Differentiate Tan™ Vit 1 with respect to Cos™ x*
1+ X% +41- X
HOME WORK
17.
If x=a(0-Sing), y=a(l+cosd), find dy d” Y
dx ' dx?
18. 2

Find j_y and 3 Z if x=a(Cos#+06Sing), y=a(Sind—-HCosb)
X X
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19. Sin®t Cos’t dy
If x= : =———, prove that — =-Cot3t
JCos 2t ¢ JCos 2t P dx
20.

Find ¥ if x=t+1  y=t-2
dx t t

21.

If x=3Co0sf#—-2Co0s*h, y=3Sin@-2Sin*@ , find g—y
X

22.

1+Iggt’ y:3+2Iogt find dy
t t dx

If x=

23.

Find the value of j_y at 6=% If x=ae’(Sind-Cosh) , x=ae’(Sind+Coso)
X

24.

2
If y=Ae ™ Cos(pt+c) , prove that %+2kﬂ+nzy=0 where n® = p® +k?

dt

25.

1+x° -1
X

Differentiate Tan™ { 3
1+X

} with respect to Sinl[ 2X }

26.

2

Differentiate Sinl[ 2X

. -1 1_ X2
with respect to Cos
1+x

1+ x?

SELF STUDY

27.

f x:e"(¢9+l) y=e“’[9_1j . find dy
0 0 dx

28.

If x=e"%, y=e% | prove that dy _—ylogx

dx xlogy

29.

If x=aSin2t(1+Cos2t), y=bCos2t(1-Cos2t) , show that gy att=

T . b
dx 4 a

30.

If x=aSec’d , y=atan’0 find Zl_y at 9:%

X

31.

If x=Cost(3-2Cos’t) , y=Sint(3-2Sin’t) find ‘;—i at 9:%
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